EARAROBEEIERT — 2 N— IBISH —F

20165E7H6H (k) 8EIEZHE2H

IGR > B6# B6 45%—M B R
[A&4£] 17%:180,000 ™ ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43%&:11,000” 537 :8,000 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N FTzEE 145, -1-1- . — WinE— (BHE)
115]5 HHIAET R — 4 4 % 1(4_5)7 1-1-1-1 | 39.2 1 zzg;) 1:.\:%7?
Rihrnz=— B:IT7ITVI—> i ¢e ]
3,0 S 4t 4 | FLBAE 1:45.9 3-3-3-3 [38.3| — 3 456 | EREAD (BEHE)
2 2| YV XEYIUT L 56,0 ) @) | @) Tr—ZbETa>
L:Tw TRy b B h v LE FREHS
s . 6 INLETT 46 =, . - WEORE (BHE)
3 6| T FPATRE— g 56.0 (12‘26/2% rerz |98 ? ?_Af) A O
:7VF%tx B:d-IKJTL—2X &I E—
o r s 4 | HHEA 1:48.8 5-5-6-7 |39.3| — 6 49 |BETB—5 (BHE)
4l8/8|>777— 54.0 (44 4) 4e) | TR
T4 %270 B:I7AF4—NF—F Fll - gR—
5 ;= o4 | WLIERLE 1:48.8 6-8-7-6 |39.2| — 5 461 | BB (BEHE)
5177 ¥TRIVTZA b 56.0 (742%) -3 | W) 77— rEvaz
RYIR T4 TS5 BRINF) T — ANERS
3 . i 5 | AEBRE 1:48.9 7-7-5-5 | 39.5| — 4 46 | BEREH (BHE)
6 3|} M ravaql 54.0 (1/2) 4y | 0 Tr—ztETar
R:w>Ny&2HTx BENANZIFv— =e)
o= — AT ES 149. ~4-4~ . - BREX (BHE)
7 4 IAFA73%2I 7 % 6 i‘zSS?g 1(14/92)0 a4 410 ! (4_629) G
R N=3I2TKR—L B:ALT-KREET> = 2
7 SV o4 | RARFAER 1:50.5 8-6-8-8 |40.7| — 8 475 | ROFEE (BHE)
gl1/1|70-U—-%>7 56.0 %) @g) | () J PN
R:7H¥4F2>3)FK B:ov—7JO— |A fE—
® I —F—@EBIERL
13=zr= 5,6,2,4,8,7,3,1
Aol=5r= 5,6,2,4,8,1,3,7
G§a=7r= 5,6,2,4,3,8,7,1
43—+ — 5,6,2,4,3,7,8,1
[ RN
B OB 5 130H4 714K 2-5 130H B E 2-5 340M &R 2-5-6 190H
8 B 5 100M 5-6 130 B H 5-2 4401 JEH 5-2-6 810M
2 1104 2-6 240M
6 1009

ABICOVWTRDTEEERROODE. TR LIV,




